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Important Boat and Stream Questions (Hindi)

1. YRT ST G2 7 Teh g Fr aifaerfa 15 . #H/ger § sefer ey &1 afa 1.5 f6.#8/ger g1 anr
1 AU e 7 saw & a1fa AT P2

A. 12 f.#/ger

B. 16.5 for.#/ger

C. 13.5 f.#y/ger

D. 12.5 fr.#&/ger

Ans. A
Sol.

AT A ATl F Sefieh &1 °Tef D § 3R URT & °rel C 81 o 99T & 3[4,
D + C = 15 freger 3R C = 1.5 frel/ger
D=15-C=15- 1.5 = 13.5 fFefger

YRT & AT & & aref = D - C = 13.5 - 1.5 = 12 fravaer

2. Ueh Ta i [ER 9relt 7 91 10 Fehelleie/Eer g1 @ 97 ahr f&Rm a7 26 ferellefted T gl 3R
997 T T R # 14 fhellefie T gt AT THT H 77 el & dr A1 P & qar hr arfa
T grefr?

A. 2 Tproltefie/eer

B. 2.5 fraltefie/ger

C. 3.2 freiteiey/der

D. 319 & IS 7Tl

Ans. D
Sol.

Let the speed of the stream = x km'h
" Sped of boat in still water =10 km'h
Speed of boat downstream = (x+10) km/h
Speed of boat upstream = (10— x) km'h
26
-+ Time taken to travel 26 km downstream ~ mh
4 b

Time taken to travel 14 km upstream — 10—y
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26 14
By condition, 19>+ 10

—-x
— 26(10—x) =14(10+ x)

= 260-26x=140+14x

= 40x =120

x=23

Here, speed of stream =3 kmh

3. URT &1 917 5 Y / wer ¥l Uk Aeddie 10 R arr & gfdger Sl § 3R 50 e A
T & eame &g W aue 3l &1 B el & Aeddie & el / | & a1 #ar g

A. 20
B. 26
C. 25
D. 28

Ans. C

Sol.

HATAT Ateddle HT 2T T 7 a1l x He/ger &
10 10 50

+ =

¥x—5 x+5 &0
[ x+5+x-5 | 5

(x+5)(x—5)] 6

= 20x x 6 = (x> -25) x5
= x>-24x-25=0

= x2-25x+x-25=0
= X(x-25)+1 (x-25)=0
= (x-25)(x+1)=0

= x =25 x = -1

4. eh =19 Y 3Tt 10 o, #Y/EeT §1 37gvare H &A1d &l a1fdd ¥RT & Yicisher A1 T Ty & 2 om
€1 &R Y IR AT 82

A. 5 fo.#/ger

B. 3 for.#i/der

C. 2 f&.#y/ger

D. 31 & IS el
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Ans. D
Sol.

Let speed of current be x km/h
According to the question
10+x = (10-x)2

10+x = 20-2x

3x=10

1
= 3—km/'h
3

5. T giFd B2 ureil & 8 Thaildey/aue &l IFdR & A1 ol Hohdll gl ST ITeil &l Sg1d 2
fohrelidey/aue giaT & df 39! fohdlT TUTH deh Silel 3R ar9d 37 & 3 gu¢ 12 e o9d g o
AT TS o g TUTeT fohelell g 872

A. 12 fRaex

B. 15 fhardeR

C. 10 fra#ex

D. 20 fhalieex

Ans. A

Sol.

3eTyaTg T aIfe = (8 + 2) fhel/eer = 10 forefl/eer
R & el aIfd = (8 - 2) fohal/eer = 6 foralt/aer
AT T 3refse gt x forelt 81 oY,

x  x_16

10 6 5

= 3x +5x =096
= 8x =96
= x=12

3free gt = 12 fohell

6. T cafad PR Sie & 3 fohell/ger 1 1fd & &R FohdT & deeqar, I STer-any & aifq 2
fref/ier 81, ar 39 cafad &1 10 fRaT 4T & favey R 3R ar9d 3mer 7 forder a7 oEem?

1
A.9§€i€'
B. 10 ©¢

C. 12 O¢

1
8_ .
D. 3'eré
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Ans. C
Sol.

Speed downstream = (3 + 2) km/hr = 5 km/hr;
Speed upstream = (3 - 2) km/hr = 1 km/hr;
Let the required time be x hrs. Then,

10/5 + 10/1 = x hrs

Therefore x = 12 hours.

Hence Option C is correct.

7. Ueh &1 Teh fATRE g @l URT o Ufdehel T il Sl Jolell H AT g0 T URT & 3fefhel d
e H Teh TATS FAF ol §1 TR Sl A oA1a T =7er 3R 4RI T 3Tl 34T gam?

oo >

AW WL
= NW

Ans. A
Sol.

HATAT T8 urelt 7 1g & a1fd = x fheAr 9fd ger
oy &Y aifa = y freT ufa ger

gRIvarg # 1fa = (x + y) fora afa ger

GRT & 9T a1 = (x - y) foRet ufe ger

& = aifd x g7
s(x—y)x4t=(x+y) Xt

4x —4y=x+y

3x =5y

x 5

Qehed A T 3T E

8. Tsh i 5 fAeIe & fav veh ary & A9l fog A @ R & 3R e 307 5 fReie anrr &
eIl R P q9H A1 & iR g B R 9gaar &l Ffa AB = 100 Hiex, anr Hr aifa (9
ge fhaeT #) &7 gar oeg;

A. 0.4

B. 0.2

C.1
D. 0.6
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Ans. D
Sol.
L 2 . 2 Q
B A c
The distance covered upstream = AC =d
AB = 100
BC = 100 + d

Rate upstream
= (X - y) m/minute
Rate downstream
= (X + y) m/minute
d
Y
>d=5(X-vYy).. (i)
Again,
iLlZ]lZ]+d=5
Xty
100 +5{x—v)
ity

= 100 + 5x - 5y = 5x + 5y
= 10y = 100
=y = 10 m/minute

=5

=5

10
= =60 kpmh
1000

=0.6 kmph

9. Th oA1d 6 € H 24 fohall I (URT-ufdsher) 3R 28 et fwrel garg (37q9arg) # Sl 81 a8
6 ©¢ 30 fAde & 30 frely I 3R 21 [Felt ey warg & Sl §1 ara i ond st & arfa
g?

A. 8 frat/ger

B. 9 farefi/ger

C. 12 fFefi/ger

D. 10 frai/ger

Ans. D

Sol.

Let the speed of boat in still water and the speed of current be x kmm/hr and y km/hr
respectively.

~Rate upstream = (x - y) km/hr

Rate downstream = (x + y) km/hr
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Case I:
24/x-y + 28/x+y = 6
24x+24y +28x -28y= 6(X-y)(x+Yy)
52x-4y=,6(x? - y?)
Case II:
30 21 13

.‘c—}'_ x+y 2
30(x+y)+21(x—y) 13

(x+3)(x —¥) 2
13 - 2 .
:>52x—9}'=?(x -y (i)

On dividing equation (i) by (ii), we have
3

6x-2y 6

1
Stx=9p 2 13
= 3385 —26y =306x + 54y
= 338x—306x =26y + 354y
= 32x=80y & 2x =5y E
= ;-:% ...l
on putting value of y in equation 1
we get x= 10 km/hr
and y= 4 km/hr |

10. Ts ATd AT 9RT Fr feem &, faudia foer & fow o= arel @77 & veh-fags @@y & ardr
g, e UIelt U URT Yatg H e i afardt @ 3regdre B

A.3:1
B.1:3
C.1:2
D.2:1
Ans. D
Sol.

let the speed of boat in still water is X and speed of stream is Y.

Speed of boat in downstream = X+ 'Y

Speed of boat in upstream = X-Y

if we suppose the distance covered by boat is P

then time taken for downstream = P/X+Y

time taken for upstream = P/X-Y

As it is given in question, boat goes downstream in 1/3 rd of time it goes upstream.
(P/X+Y) = 1/3 (P/X-Y)

3(X-Y) = (X+Y)

2X = 4Y
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X=2Y
Xy =2:1
hence, option D is the correct answer.

11. T 3EHT TR arelt 7 4 fopell/ger Y a7 & oK ThaT &1 IS 9rel T arer 2 fhel/ger &, ar
10 RAT Fg19 & Audia aa & T 38 fhdeT @@ Rem?

N
A. 25 ge

51
C.59c¢
D. 4 €9¢

°e

Ans. C
Sol.

URT & idsghel fd = 4-2 = 2 forell/eer
forRT a=r §HAT=10/2= 5 ¢

12. T 3TeHT Teh AT H URT & 3efehel 3 °©C # 21 fh.#. Srar § 3R 3.5 6 & amd dliear &
R 71 # a8 forg a1ar & A9 Femuan?

A. 6.5 T /aer

B. 3.5 for.#Y./ger

C. 5.5 T /ger

D. 4.5 fr.#./ger

Ans. A
Sol.

AT TR STod & 36T 1 a1fa = x fpedt/ger 3R arr $r aifa = y fref/ger
~x+y=—=7kmph

(x—y)= = 6 kmph

NI‘-J‘ EW| ~

et |,
2x = 13 kmph

13
X == 6.5 kmph


https://bit.ly/3b7Jixk
http://www.byjusexamprep.com/
http://www.byjusexamprep.com/
https://t.me/BYJUSExamPrepSSCAndRailwaysExams
https://www.youtube.com/c/BYJUSExamPrepSSCRailwayHindi

[ -l
i

U A WEYS |

13. Teh of1a GRT 1 feem 18 foh.#lr 3R ey hr faudiey fger & 12 6. #f & gl a7 ket & et
el ©¢ T THI il & SAaTh IJg YRT I G2 & 24 for. 77 3R arr &ir faudia fGar 7 36 .7
Y G T FA H Fel 6.5 TS HT HAY Ach g1 AT Y I AT F?

A. 12.5 f&.#/ger

B. 20 f&.#/ger

C. 10 . #/ger

D. 7.5 fo.#i/ger

Ans. C

Sol.

Instead of forming large equations, simply equate what is given in the question:
Downstream Upstream
18km x 3 12km =3 3hr =3

- 24km - 36km -6.5hr

= 30Km downstream in 2.5hr

Downstream speed = 12km/hr

14, Teh &9 12 el URT & 3ffehel STl ¢ 3R 3 8¢ # UR#e fdg o amd e &1 I

gRT Fr a1fa 3 fredT / ger §, af 2R el & g fir afa (frefr / @en) &

A. 12
B. 9

C.8
D. 6
Ans. B
Sol.

Ife dic $r 2R ST 7 dref x fhal/ger g, a9
12 12
+
x+3 x—3

=3

D ox=3+x+3 |
x+3)(x-3) )

4 x2x =x*-9
x2-8x-9=0

X2-9%x +x-9=0
X(XxX-9)+1(x-9)=0
x-9)(x+1)=0

X = 9 because x * -1

)

12

Loy
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15. Ueh 3TeHT URT & faoier feem & &Ry & feem & a3 & 15 gt &l aF oXel & 3 I Jnfes

HY AT &| URT B T & e v 1 T 3gard F4r 872

A. 0.5
B. 2

C. 0.33
D. 3

Ans. A

Sol.

Let the speed of the stream be x km/h

Let the speed of the man be y km/h

Let the distance being covered be d km

Time taken to cover d km upstream = d/(y - x)
Time taken to cover d km downstream = d/(y + x)
It is given that time taken to go upstream is three times the time taken to go
downstream.

So, d/(y - x) = 3d/(y + x)

y + x =3y - 3x

x/y = 2/4 = 0.5

16. Ueh i arT T faqdid fGem 7 1 6 7 20 fAeTe & A1 Tore 4 Tt S g o7 T Hevell
¢ 3R 319 IR foig W 24 AT & a19q 3 Tl &1 AT STel H 39 13 fFaAT ¥ g 77 et
H fohd=lT §HY (Tt #) oerem?

A. 2

Ly

M M=

o0 W
w N

Ans. C
Sol.

YRT & [auda =g &1 a1fa = 4/(4/3) = 3 fRa/ger

YRT ga1g A «A1g Fr afd = 4/(2/5) = 10 fraAy/ger

R urelt & &1 &1 1fd = (3 + 10)/2 = 6.5 fRal/ger

FEUR arelt 7 13 foRaY &1 AT ket o folT aA1g ganT o s/ m @77 = 13/(6.5) = 2 €¢
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17. Ueh wA1ideh 1 GRT &I e 7 6 .7 et 3R o7: TR fg 0¥ 31 7 2 6 ovrd 81 3
R 1 31T 4 Toh. #H1/geT 81 af 511 T 1Ty AT h?

A. 8 f&r.#/ger

B. 6.5 fh.#I/ger

C. 12 f&.#y/ger

D. 24 f&.#f/ger

Ans. A
Sol.

AT §1e &7 arer B &1 ar,

6 . 6 _,
B+4 B-4

3(B—4+B+4)
T B-16
B>—6B—16=0
B =8 km/h

18. I R ST A Ueh A1 &1 arer 26 Th.FY./8eT § 3R 4RT $r arer 8 fh.#T./ger §, ar ara #r
YRT 9aTg & TrY 136 TR.HY. &1 I e A forar S arerr @& F341 gram?

A. 8 T¢

B. 5 &<

C.48c

D. 3¢

Ans. C
Sol.

19 T 981 &X = 26 + 8 = 34 f&ar / "erl
36
Required time = EV 4 hours

Qered C TeY B

19.Te 3T 30 frelt arr & fudia 31K 44 el ar & T1y 10 8¢ & 19 IoT b &1 3T
37elTaT, dg 40 fRaT aRT & faudia 31k 55 frall &RT & A1 13 °¢ 7 A1 IolT ThdT g1 ATd ol
#H 39 3T fr Trer AT Hifod|

A. 8 frat/ger

B. 9 fral/ger

C. 10 fws/ger

D. 7 frst/ger
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Ans. A
Sol.

Concept : If a man rows di: km upstream and e: km downstream in t; hrs
Also he can row d; km upstream and e km downstream in t; hrs .

dleZ—d2el
- m/hr
e2tl—elt2

dlez—dzZel
s km/hr
d1t2—d2t1

Here Upstream speed of man will be :
30X 55—40x 44 110
= — = 5km/hr

55x 10 — 44 x 13  —22
Downstream speed of man :
(30 % 55 — 40 X 44 )

30X13—-40X10

Speed of man ; = 31!

Then the upstream speed of man =

Downstream speed of man =

=11 km/hr

= 8km/hr

And speed of stream : = %_5 = 3 km/hr

20. 2Tel STeT #H Teh =A1q & 1Y 55 o, #/erer &1 Il A1, &Ry v feer & 90 for.#fy dhr gy 1 &
15 fReTe 3 T X g ar Ry $1 faudid e F A gt a7 FXeT 7 38 fhdeT 7 oem?

A. 1 ®er 55 e
B. 2 ©er 12 fAsle
C. 2 der 22 e
D. 2 ®er 36 fAee

Ans. C
Sol.

AT ORT &7 o1 x fhei/eer g1

SIE EaRT 9RT & 3l 90 Rt i gt a7 A fom a9 @#F = 1.25 ©er = 90/(55
+ X)

x = 17 forefi/eer
URT & faudid 90 farely 1 qlr a7 & & forar aram @#T = 90/(55 - 17) = 2.36 & AT 2
gc¢ 22 fAdc ()
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21. Ueh AT orid STl 7 5 fheli/aer dr a1fa & =g el dehar g1 Ifg s1Er 1 frefveer fr aifa &
SEdT §, Al 38 Teh 51916 W) Sfet 3R arad 31 7 75 AT &l AT 9Tl §1 36 T 67 gl A1d
R

A. 2.5 fRaT

B. 3 fpaly

C. 4 e

D. 5 foreiT

Ans. B
Sol.

&R Fr feom & aifa = (5+1) frsdi/ger = 6fwa/ger

¢RT Fr AT Ger & a1fa = (5-1) fra/ger = 4fway/ger
e /T o7 = 75 fAde = 5/4 ¢

AT 3r8fise g x fohadt §1 T,

(x/6)+(x/4)=5/4

= 5x = 15

X = 3 km

3r3fise g = 3 fohely

22. T AT URT & 3eAfeer 12fHel. S arad yedTl foig WX 3 €¢ & dlech &1 Ffe emr i arer
3 forafi/a. §, ar oid ST & aA1a v arer (fRay / &, &) gl

A. 12
B. 9

C.8
D. 6

Ans. B
Sol. Let the speed of boat in still water be x km/hr
Therefore;
12 12 =3
x+3 x-3

12( x=3+x+3 ) =3

(x+3)(x-3)

4X2x=x%*-9
x2—-8x—-9=0

Solving the above equation ; we get;
x = 9 km/hr
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23. UTd ST & Ueh oA1d &7 17 13 fhaeer § 3R ey & aifa 6 fhevaer g1 afg 39 arT &
Sfciehel ool & Jelell 3 URT & 3fefdhel Telal A 6 B 3T 9T g1 A 7 Y 76 g AT |
A. 68.5 ThaT

B. 66.5 foheT

C. 65 ThaT

D. 67.5 fhaT

Ans. B
Sol.

g1, UNT & Fideher a1l = 13 - 6 = 7 fohell/Eier
3R G & 3rgepel A = 13 + 6 = 19 frefder
AU D &,
oY, 99T & 3R,
AT (URT & Fidehel) - AT (URT & 37efehel) = 6 b
D D
=7 19
19D-7D _
7133
= 12D =133 x 6

133 x6
=>D= 12

= 66.5 T

24. Teh e URT & Yideher 5 8¢ H 60 ol ST Hehell B AT ol H AT T 1Ty GRT Y aTfed
T 7 9UT & | AT T GRT & Hictehel f&=m # 20 .7 T g 77 &7 arad 31 & fav v oy
T I T gIefl?
A. 2 ¢ 45 fAee
B. 4 g¢ 30 fAec
C. 2 §¢ 35 fA=iec
D. 2 g¢ 55 fAsc

Ans. D
Sol.

ATAT A1F T T ST F a1fad 7x fna/ger 3R ary 6 aifay x foe/ger g
UReT & AR,


https://bit.ly/3b7Jixk
http://www.byjusexamprep.com/
http://www.byjusexamprep.com/
https://t.me/BYJUSExamPrepSSCAndRailwaysExams
https://www.youtube.com/c/BYJUSExamPrepSSCRailwayHindi

et |

§)BYJU'S [§BYJus |

=5 7Xx-X=60/5=>6x=12=x =2 km/h
URT & 3efeer fd = 7x2 + 2 = 16 fhai/ger

200 20 60+80 140 35
IMsce g = — . = =—="—"=2/s 55min
16 12 48 48 12

25. Ueh of1d T 1 f&AT & 31feher 8 o, #Y. /€T & ATel § Tolcll § AT URT S fe=mm & gfcieher 4
for. 7. /5T &7 a1 & AT STl H ATd T el 4T gren?

A. 4.5 fr.# . /ger

B. 5 for.#./ger

C. 6 .7, /8er

D. 6.4 f&.#./ger

Ans. C
Sol.

HIAT ATG 1 arel x fom. A /gver 3R amrr &1 arer y . A /gver gl
Teh of1d URT & 3ejfeer 8 foh.#r./ gver 3R 4R & faudiaq 4 fo.#ir./gauer &1 aifd & =orchr &

safaT,

X+y = 8------- (1)
X=—y=4------- (2)
gl GHROT &t s W,
2x = 12

26. Ueh 3T oAkl T 8 6 A 40 fohell. F¢d yarg Tellc 8 3R 6 € A 36 fhal. 3eyvare, o
RT 6T ATl &

A. 0.5 ferat/eer

B. 1.5 fereft/eier

C. 1 forefl/erer

D. 3 ferat/aer

Ans. A
Sol.

AT d 9T # die i ared = X hai/ger
ey &Y Trer = Y feAl/ger


https://bit.ly/3b7Jixk
http://www.byjusexamprep.com/
http://www.byjusexamprep.com/
https://t.me/BYJUSExamPrepSSCAndRailwaysExams
https://www.youtube.com/c/BYJUSExamPrepSSCRailwayHindi

. @Bwys @Bywys
YRT & AT dic & ey 9t = X - Y = 40/8 = 5 fhadl/ger ... (1)
URT & 3eJehel SIC T AY&T a1 = X+ Y = 36/6 = 6 fhadl/eer ..... (2)

3T Gl HERON Y gl Hled & dIG:
X = 5.5 forefi/ger 3k Y = 0.5 fRay/ger
3d: 9RT &1 Arer = 0.5 fhaAvEer

27. T HICISIE URT & 3Helehel 2 6 & 24 el 3R 4RI & gfcigeel 1 6 & 10 fohedT STl B
feheliaTeT uid e & TR ST # Aesie $r i A1 |

A. 12

B. 10

C. 11
D. 14

Ans. C
Sol.

HTAT Areale $r afa = x forst/ger

HIAT 8RT 7 91ft = y forall/ger

ERT & Hiciehol HICISIE &I aTTd

= (x—y) = 10/1 = 10 fFef/ger ......... (1)
YR o 3fefehel HICISIC I iy

= (x+y) = 24/2 = 12 fa/ger ......... (2)
FHIRIOT (1) 3R (2) T Sz |

2x = 22

x = 11 fhel/ger

3d:, HAedle $r fd = x = 11 Re/ger

28. @IS =ATfdeh URT & e 48 et & 12 fohell SITem § T 1 €er 20 Aete H arad 31T Sirer
g | Ao STT & ATfash Fr arel 8

A. 12 frst/ger

B. 12.5 faaf/ger

C. 13 faf/ger

D. 15 forelt/ger
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Ans. A
Sol.

AT NfAT o ed o & Arfas &1 a1fd x km /ph g1
RT FT a1t = Y Ry ufa ger

12
oxryp=48
60

12

=——x60=15
13 kmph

12

and, x—y= 30
60
12

:%x60:9kmph
3o AR & FNSd I,
2x=15+9=24

24
x=—=12Zkmph

—

29. Th st TR 91l A 10 fohefl/a Y a1y & R FehclT 81 defar Ffe e & a1fa 5 forall/ar
grareasRr60 ey v @eeam|

A. URT & Ta%eY 4 Tl H

B. URT& &T 12 €T A

C. 9RT & fawey 6 gef 7

D. YRT & 1Y 4 gef H

Ans. D
Sol.

URT & el Tel= 10+5 = 15 fr.#r/ger
URT & a9l =rel = 10 - 5 = 5 A /ger
URT & 3fefhel 60 Fh.A. R & forr —m 7T = 60/15 = 4 ©eT

30.0 oA1d A 5 € A 15 Fohell &rr o wfdepel 3R 6 € # 42 fhat URT & 37fhel gl a7 |
TR &Y T Frai/eier 7 71 &Y
A.2

B. 3
C. 1.5
D. 2.5
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Ans. A
Sol.

R & Yiciehel afrd 1 a1fd = 15/5 = 3 fopafl/eier

URT & 3Helshel oATd T T = 42/6 = 7 fhay/eer

gRT &Y AT = (URT & 3fefhel AT T AT ~ GRT & Gfdgel A A 31{d)/2 = (7 - 3)/2 = 2
ferei/ et

31. T 3MTe# Fler & 30 FhallHIeR 3Heqvarg ool X, e @ foig X For 8 6 & ol T & |
QT ATl 3 FHlehT T ATel €RT T =Tel § TR 0N g A &RT T =Te & ?

A. 1 fod./ger

B. 2 ferey. /8T

C. 4 fopaft./Her

D. 3 fere./Eer

Ans. B
Sol.
Let the speed of stream = X kmph,

then speed of boat in still water = 4 X kmph
downstream speed= 4x + X = 5x kmph

upstream speed= dx—x=3x kmph
then accroding to questions:
30 30
, —+—=8
3x Sx
10 6

—+2=8
X X

16
X

=8

16
xZEZZ kmph

32. T oid STa A 14 fRaAvEer $r afd T TF AT T TAhdr § Il T ey 2 fRe/ger
I & 98 W & 3R AT H 4RT & Tidehel Teh RIS g a7 el A 3 € o9 &, af 39
URT & 3fefhel 3T g A 0T FA A hclell THT o9m?

A. 2 geT

B. 2 geT 15 e

C. 2 ger 20 fAsie

D. 2 ger 30 A
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Ans. B
Sol.
fear &:

AT STel & A1 &1 atfd = 14 Fopadr/eer

oAeT T arfe = 2 fapef/Eier

URT & gfdser @a 1 a1fd = 14- 2 = 12 farefy/ger

= aifd x gAY

ol = 12 x 3 = 36 foal

URT & 3eJpel A1d HT AT = 14 + 2 = 16 Fha/ger
W,mmw%wmwaaﬁwm:%:%:zidﬁ:zh15@?{
33. ¥ U Ul A Teh A1 Y 1T 10 fhelt / €T &1 Tg 6 6 H 45 fhalt ¥ g 4 & faodia

T Al §1 URT AT a1 (Topad/eer ) foncelr 872
A. 2.5

B. 3

C. 3.5

D. 4

Ans. A
Sol.

Letthe speed of the streambe xlon | I

34. T ST N1 & fadd 6 €¢ H 24 fRAT eIl § 3R URT & Ieqgher 4 €@ H 20 forel
Toldl § o AT ST H HeAL: dic HT el AR el & §g1d FI a1l AT FIfora?

A. 4 freft/aer 3R 3 fhe/ger

B. 4.5 fral/ger 3R 0.5 forsi/ger

C. 4 friaer 3R 2 fordi/ger

D. 5 frefi/aer 3R 2 fhei/ger
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Ans. B
Sol.

AT T 9t H die i ared = X haei/ger
gt T Trer = Y RAEer
g °rel = gl / @8 g

YRT & AT dic & AN Ifd = X - Y = 24/6 = 4 RevEer ... (1)
URT & bl S HT @UET Afd = X+ Y = 20/4 = 5 fhai/eer ...... (2)

3oT Glell JHOIN &l §oT Hled U :
X = 4.5 frefi/ger 3k Y = 0.5 frdi/ger

35. Ueh cATFT URT Y fR & Rl §U 15 fohall. Teh € & R AT &1 AT &R Y T 5 el /eer
&Y, F 6T AR 3T g ORI & fa%eer Rl §U fobclel THT # T T w12

A. 19er 30 AT

B. 45 fAsc

C. 2%er 30 fAsie

D. 3ger

Ans. D
Sol.

arelr 7 3T Fr a1t x Ry / ger g

sgfaT, (x + 5) = 15

x = 10 T / ger

YRT & AUl 3meHT &1 a1fa = (10 - 5) = 5 faAY / ger
URT & faodid 15 Rt &ir gl SR & v 3rmaeas qog
= 15/5=3 &¢

safow, Aeea D g B

36. TR 9rell # v aA1a T 71fa 6 fh.ayeer g1 a gart v AfRad g @ urr & ufded
dT A H e dTell AT AT Gl Al URT & 3HeJehel dF A H oF dlel THT § 3 €9
siftes 1 3fe awr & aifa 2 frafveer §, & a9 ganr awr & gfasa 3R avT & IegEmd ag
T IS el g fohcialr gl

A. 72 [.#T

B. 24 f&.#Y

C. 48 .o

D. 36 fh.&T
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Ans. C
Sol.

AT, T T A g (YRT & Gldehel) = o &1 718 g (YRT & 3efehel) = X A

AT = g/
TR,

=>x/(6-2) - x/(6+2) = 3
=> X = 24 [T

- 3ATRIT G = 2 x 24 = 48 Th.A

-

@BWYS |

37. Ueh 19 8 6 # 64 fohall €RT o icipel 3R 12 € & 120 fohalT URT & 37efepel ITAT T B

T STl & oA1d FT i (Hey/Ahs #) Fa1 gref?
A. 2.5

B. 2

C. 3.5

D. 3

Ans. A
Sol.

AT T STel H ATd T 917 = x fhaAY / ger

&R <1 a1fa = y fomet / ger

R & Yfdepel ATd 1 aIfd = (x-y) fealy / &er
URT & 3elohel ATd T I = (x + y) FRelY / Eer
oA1d 8 ¢ H 64 foheT URT & Ffdshel T FIAT &

T & il 1 Y At = 2 -8 km/h

RT & 3Tl Ad T A = %=1D krn / h

(1) 3R (2) A Sigad |
= 2x =18
=>Xx=9

Qi STel & =119 Y a1fY = 9 Ppafveer = 9:<%=z.5mfsecm”a/@5ﬁ
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38. Ife URT ¥ 1A R ST 7 A1T T I1fy ST 20% & 3% g 150 Beie 7 120 Fay arT &
wfciehel g &1 T AT &, Al AT T 4RI & 3efehel T 4T IaM?

A. 75 ferat/Eer

B. 72 feral/ger

C. 80 fFefi/ger

D. 64 fhal/eer

Ans. B
Sol.

e aram § T oRT &1 a1fay e STl & o1 g &7 31fa &1 20% &

20% =~
3 i i
ﬁ

HIST i ST & A1d &1 31fd (X)= 5 S

YRT 1 I1fd (y) = 1

YRT o 3feehel A1d T I = (X +y) = (5+1) = 6 SIS

ORI & Sfdshel oA1d Fr afd =(x-y) = (5 -1) = 4 315

Yy g, A1 150 fRste 7 120 el arr & ufdepet off a7 i §

@ _ 120km _ 120 _ - :
R & Yfdepel &G dr aifd= ;= I ~ 3 = 48 forsi/ e
2

= 4 sHS= 48 fRal/Eer
= 1 s@rs= 12 fre/Eer
= 6 gPps= 72 fheli/eer
37z, YIRT o 37efehel #ATd el 3Tt = 72 fehadi/erer

39. Teh HTd I URT o 3fefehel Tt 14 Tohall / €T &1 A1 T 4T & Gfdieher aTf 10 fohely / wer B
fehcel AT # Ig AT STel H 72 Tovedl & 1 T 7 T Fehell ©7?

A. 8de

B. 6 &

C.128e

D. 4 &2
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Ans. B
Sol.

HIT 19 &1 Aid oFf H i = x FAT / ger
aRT 7 a1fd = y fRaY / ger

oATd I R & 3fefehel A (x+y)=14 fopall /€T ..., (1)
oATa T YRT & Yicepel a1l (x-y)=10 f&all / &eT ... (2)
(1) 3R (2) & gl

=2x = 24

=x = 12 Fa/eger
37, AT T H A9 & 7fa = 12 fFevaer

AT STel F 72 Tl T g 7 ¥el & oI A1a gary feram arn g7 =

-t

1

=6 °¢

[ -]

40. T STl H T &A1 Y dTel 30 Fohel/eer 1 Ifer Ara &Ry s fe=m & 60 fohalr 1 g 1 6¢ 30
AeTe & T &t g1, dl o1 garT 9RT T faalia fgem 7 60 fhet i gt a3 e & forar arn
AT AT HIfAT?

A. 3HEc

B.5®C

C. 44

D.1dc

Ans. A
Sol.

HATAT QT STl H Teh A1d el dTel = x fohell/Ec
YRT ST °Tel = y fohell/ge

RT &7 fauda fGem & 1@ Fr arer =(x-y) /e
YRT S feom & A i TGrer = (x+y) Fey/Ee
FATTAR:

x = 30 Fdy/ge

G0
%rmzﬁr%errafraﬁa?rzrrar=“%‘m:fr/d%=4o R/

> x+1v=40
= 30+ 1v=40

= v=10
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YRT Fr arer = 10 fhaAl/Ee
gRT T fTauda e & @ fr T =(x-y) FvEeE = (30 - 10) = 20 e

AT GET T B Rl R # 60 Reelt o7 e oF fovaT amw W = o = 3 €

41. I T A1 10 €S H 9RT Hr 2w 7 100 fraAT =rer arelt § 3R amy & favey 15 9¢ & 75
forat Terch €, ar amT Y 1fY forastr € 2

A. 2 fat/ger

B. 2.5 fl/guer

C. 3 fref/ger

D. 3.5 frai/ger

Ans. B
Sol.

¥ JAr &1 3 = 100/10 = 10 e ufa @
URT & Yfdeghel &7 = 75/15 = 5 fopadl/ger

YRT &Y AT = (375 # a1 - o & gfdset a1fd)/2 = —(10-5) kmph

| =

1
:EXS =25 kmph

42.@@%%%3&?% Rl 9y €2 Y 7Y F AT T AT 1 3 Tar Torar ¥ fr
39 ACT & faveH STl & 3HDT URT & Y ST I GIAT GHI I | TETHR AT hr &R T a1fed
fordetr 82

A. 2 TRaY/ger

B. 3 frafl/ger

C. 2% e/ e

D. 3% faraf/EieT

Ans. C

Sol.

Short Trick:

Ratio of time along and against the current = 1:2
Ratio of speed = 2:1
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using componendo and dividendo
7.5 _2+1_ 3
vo2—-1 1
v=2.5
Basic Method:

1
The speed of a person man of rowing in still water = T?I”” hr.

Let speed of stream = x Km/ Hr
The speed of person down the river = speed of rowing + speed of stream

{?% + xX)km !/ hr.

The speed of person up in the river = speed of rowing - speed of stream
1
(?; — X )hkan [ hr.

Given: Time to row against stream = 2 Time to row along stream
Jdistance distance

1

“[15 ]_[15 J
—+x —~—x g

2 2 i

43. T oA1g 20 TRt YRT & A1 3R 30 foralr anT & fAwid 2 ¢ 20 A 7 31 Tohdl g1 395
sifaferd, I8 49 AT & 10 Rt 4R & |12 3K 8 fhaAT eRT & A9 ST Fohdl g1 URT & T
fopeft/erer & e & arfa & &2

A. 18

B. 20

C. 16
D. 24

Ans. D

Sol.

Let the speed of boat downstream=D km/h,
And speed of boat upstream= U km/h,
Distance = Speed X Time

E_i_ﬁ:z ........................ (1)
D 17 3


https://bit.ly/3b7Jixk
http://www.byjusexamprep.com/
http://www.byjusexamprep.com/
https://t.me/BYJUSExamPrepSSCAndRailwaysExams
https://www.youtube.com/c/BYJUSExamPrepSSCRailwayHindi

[ -l
i

§BYUs @BYYs
10,8 _ 49 i, (2)

n i - Al
On multiplying equation (2) by 2 and then subtracting it from equation (1), we have

14 21

u 30

u =20 km/hr

Now putting u=20 in equation (1)
We have,

Downstream speed D = 24 km/hr.

44. A STl A Teh A1 I AT 6 km/h B Il 58 URT AT feT & ST Y Jofall H ORI o faodrd

ST & R [T 378k HHF ofaTell & o ¥R T aTfey o7 grefr?

A. 2.5 km/h
B. 5 km/h

C. 4.2 km/h
D. 3.6 km/h

Ans. D
Sol.

AT NG raTHFrafgaaTaFTFE = u

T HT AT = v

A.T.Q.
u+v_4

= 3.6 km/h

45. Teh 600 HeX &l IS Teh 1000 HeT &« TATHIH &l IR et H 80 Tehg JIdT §1 IeTamsr
$r afa (fey/Ahs &) T E?

A. 20

B. 72

C. 16
D. 36
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T &Y o«1s = 600 A
THCHIH T oi"s = 1000 A,

&y forar = 80 T%s

%ol F Hr IS g0 = 1000 + 600 = 1600 .
ar @& forar = 1600/80 = 20 #r / &,

46. Ueh 19 o7 shr Auda arr & 35 .7y i amar 7 9¢ 7 g &t § 31 a8 fr arT & @y
3ol 81 g1 5 ¢ A TF el & TR ST # 19 ¥ arfey (fep. #iY. /erer /) 21 872

COow>
o VNG

Ans. D
Sol.

YRT & IEdvarg Ifa = 35/7 = 5 fFay/ger
gRT & 3ieffeer T = 35/5 = 7 fhAl/ger
T I H aAg Fr afa = 7+5/2 = 6 foeli/ger

47. Uk o719 2 g¢ 27 fAsde & gy &1 fgar &7 30 fraT 31w ary fr faudia fgar & 24 R o
Hord! &1 AT &Y, TE 74 BeTe H Ry &7 f&em & 20 Py 3 ary i _Aoda feem & 8 fFar o

HhaT &1 oid STl H A9 &1 arer fFAger & F1g Y

A. 18
B. 20
C. 24
D. 22

Ans. D

Sol.

Let speed of boat in still water is x km/h and speed of stream is y km/h. Then speed
of boat in downstream, x+y and in upstream, x-y .

Ti Distance
ime = ————
Speed

4
2 hours and 27 mins = 20 hours 74mins = 20 Hours
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20 B (1
x+y  x-y 20
20 8 (2

x+y x—y 60
Solve equations 1 and 2 and calculate the value of x and .
x =22km/h and y = 20km/h

48. T AT URT & TTY 10 R URT & 3fefehel 3R 8 fohell URT & fdiger 49 fAeie F ST Fehclr
g1 3T 37ardr, I8 12 Fer arT & Ty 3R 4 R 4R F /AT 42 e & 51 g g1

Let the speed of boat downstream=D km/h,
And speed of boat upstream= U km/h,
Distance = Speed X Time

0,8 49 . (1)

n i (314
E 4 42 (2)

D I Al

On multiplying equation (2) by 2 and then subtracting it from equation (1)
14 35

D 60

D =24

Now putting D=24 in equation (2)
12 4 42

- _|_ —

24 U 60

U=20

Speed of stream,

=D-U_ 24720 _ 5 km/hr

2 2
49. 3eIyTg H Ueh A1d &I AT, URT o Ficiehel TaTg H SHbT M A 20% 3T &1 I A1 v
arfar 11 for. 7. /ger § ar amr & aifar &7am g2
A. 4 7.7, /ger
B. 3 f&.#./ger
C. 2 /.5, /ger
D. 1 f&. &Y. /ger
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Ans. D
Sol.

Let speed of current be x
According to the question
(11—.1')E=11+.1'

100
66-6x=55+5x
11x =11
X = 1km/h

50. Teh #A1d 30 fr.aT arr v fGem 7 3R 24 FaA ey & fAldia Ramr # 2 6¢ 27 Bee &
ST Fehdl §1 38% 3erar Ig 37 fAste 7 10 frar arr $r e 7 3R 4 fFalr arr & fAwdia

feem & ST Fhdr §1 9RT A A9da feer & A v arer (hAvEer #) F=21r g2

A. 24
B. 18
C. 22
D. 20

Ans. D

Sol.

time taken by boat to travel 30km downstream and 24 km upstream = 2 hours 27
minutes....(i)

time taken by boat to travel 10km downstream and 4 km upstream = 37
minutes....(ii)

if we multiply (ii) the above by 3

time taken by boat to travel 30km downstream and 12 km upstream = 1 hours 51
minutes...(iii)

Subtracting (i) from (iii); we get;

therefore time taken by boat to travel 12km upstream = 2 hours 27 minutes - 1 hour
51 minutes = 36minutes

speed of boat upstream = 12/36 x 60 = 20km/hr

51. Tk A1g 20 fAeie & 2 fh. A1, 4Ry & Yfdger duT 3 .. &RT & 3iefdhe Sl g1 98 53 fAee
# 7 .. arr & gfdepel dur 2 A 4RI & ool ST €1 FERR Stel & @ra &y arfa (b, o,
wfer wieT ) 4 §?

A. 75/7

B. 120/7

C. 135/7
D. 150/7
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Ans. C
Sol.

Let the speed of boat and still water be ‘x km/hr’ & 'y km/hr’ respectively.
Upstream speed (U) = x - y and Downstream speed (D) = x + vy
Therefore,

24,3 2 »
i + D=60 Eq(1)

7 2 53
TtD "0
Multiplying eq(1) by 2 and eq(2) by 3, we get,
446 _ 40 coeeq(3)

U D 60 '

21 6 159 vy
T-’_F_ﬁ ....(_’q('—l)
Now, subtracting eq(3) from eq(4)
17/U = 119/60

U =60/7

Substituting the value of U in Eq(1).
7/30 + 3/D =1/3

D =30

So,

X -y =60/7

x+y=30

2x = 270/7

x = 135/7
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